E |

trai[m]

PDF ONLINE
www.lidl-service.com

SCHAUKELPFERD

WOODEN ROCKING HORSE

CHEVAL A BASCULE

@ a

SCHAUKELPFERD WOODEN ROCKING HORSE
Gebrauchsanweisung Instructions for use

@D

CHEVAL A BASCULE HOBBELPAARD

Notice d'utilisation Gebruiksaanwijzing

@

KON NA BIEGUNACH HOUPACI KUN

Instrukcja uzytkowania Ndvod k pouziti

€y @&

HOJDACi KONIK CABALLO BALANCIN

Navod na pouzivanie Instrucciones de uso
GYNGEHEST c €
Brugervejledning

IAN 359952_2101










Herzlichen Glickwunsch!
Mit Threm Kauf haben Sie sich fir einen hoch-
wertigen Artikel entschieden. Machen Sie sich
vor der ersten Verwendung mit dem Artikel
vertraut.
Lesen Sie hierzu aufmerksam die
nachfolgende Gebrauchsanwei-
sung.
Benutzen Sie den Artikel nur wie beschrieben
und fir die angegebenen Einsatzbereiche. Be-
wahren Sie diese Gebrauchsanweisung gut auf.
Héndigen Sie alle Unterlagen bei Weitergabe
des Artikels an Dritte ebenfalls mit aus.

Lieferumfang (Abb. A)

1 x Schaukelpferd, zerlegt (1 - 10)

1 x Montagematerial-Set:
2 x Doppelschraube @ 6 x 80 mm (11)
4 x Schraubenhiilse @ 8 x 12 mm (12)
4 x Schraube @ 6 x 40 mm (13)
4 x Schraube @ 6 x 50 mm (14)
8 x Schraube @ 6 x 45 mm (15)
8 x Quermutterbolzen @ 10 x 11 mm (16)
2 x Schraube @ 4 x 25 mm (17)
2 x Schraube @ 4 x 50 mm (18)

2 x Innensechskantschliissel (19)

1 x Gebrauchsanweisung

Technische Daten

MaBe: ca. 69,5 x 32,5 x 51,5 cm (L x B x H)
Sitzhdhe: ca. 30 cm

@ Maximale Belastung: 20 kg

Hiermit erklért Delta-Sport Handelskon-
C tor GmbH, dass dieser Artikel mit den
folgenden grundlegenden Anforderungen und
den ibrigen einschlégigen Bestimmungen
Ubereinstimmt:

2009/48/EU - Spielzeug-Richtlinie

Herstellungsdatum (Monat/Jahr):
07/2021

BestimmungsgemaBe
Verwendung

Dieser Artikel ist ein Spielzeug fir Kinder ab
1 Jahr fir den privaten Gebrauch.

4 DE/AT/CH

A Sicherheitshinweise

Achtung. Alle Verpackungs-/Befestigungs-
materialien und der ,SUPER DRY“-Beutel
(Trockenmittel) sind nicht Bestandteil des
Spielzeugs und missen aus Sicherheitsgriin-
den entfernt werden, bevor der Artikel Kindern
zum Spielen ibergeben wird.

Achtung. Trockenmittel enthélt calcium
chloride (CAS 10043-52-4). Darf nicht in die
Hénde von Kindern gelangen.

Prifen Sie den Artikel vor jedem Gebrauch
auf Beschadigungen oder Abnutzungen. Kon-
trollieren Sie regelmé&Big den festen Sitz aller
Schraubverbindungen. Der Artikel darf nur in
einwandfreiem Zustand verwendet werden!
Der Artikel darf maximal mit 20 kg belastet
werden.

Der Zusammenbau ist aufgrund vorhandener
Kleinteile durch einen Erwachsenen vorzuneh-
men.

Achten Sie darauf, dass der Artikel und samt-
liche Bestandteile bzw. Komponenten nur im
aufgebauten Zustand an das Kind iibergeben
werden.

Kinder dirfen nur unter Aufsicht von Erwach-
senen mit dem Artikel spielen.

Achtung. Nur auf ebener Oberflache zu
benutzen. Stellen Sie den Artkel mit einem
Mindestabstand von 2 m zu jeglichen Obijek-
ten, wie Mébeln, Wénde u. A., auf.

Aufbau

1.

2.

Entfernen Sie das Verpackungsmaterial und
legen Sie die Einzelteile auf einen sauberen
und ebenen Untergrund (Achtung: Harte
Untergriinde kénnen zu Verkratzungen des
Artikels fihrenl).

Montieren Sie den Artikel, wie in Abb. B - E
dargestellt.

Hinweis: Verwenden Sie bei kleineren Kindern
die Riickenlehne mit Haltering (Abb. E). Bei
groBeren Kindern kénnen Sie den Artikel auch
ohne Haltering verwenden (Abb. D).



Lagerung, Reinigung

Lagern Sie den Artikel bei Nichtbenutzung
immer trocken und sauber bei Raumtemperatur.
Nur mit einem trockenen Reinigungstuch sauber
wischen.

WICHTIG! Nie mit scharfen Reinigungsmitteln
reinigen.

Hinweise zur Entsorgung

Entsorgen Sie den Artikel und die Verpackungs-
materialien entsprechend aktueller rtlicher
Vorschriften. Verpackungsmaterialien, wie z. B.
Folienbeutel, gehéren nicht in Kinderhdnde. Be-
wahren Sie das Verpackungsmaterial fir Kinder
unerreichbar auf.

52 Entsorgen Sie den Artikel und die
%A Verpackung umweltschonend.

/. Der Recycling-Code dient der Kennzeich-

& nung verschiedener Materialien zur
™ Rickfihrung in den Wiederverwertungs-
kreislauf (Recycling).

Der Code besteht aus dem Recyclingsymbol
- das den Verwertungskreislauf widerspiegeln
soll - und einer Nummer, die das Material
kennzeichnet.

Hinweise zur Garantie und
Serviceabwicklung

Der Artikel wurde mit grofer Sorgfalt und unter
stdndiger Kontrolle produziert. DELTA-SPORT
HANDELSKONTOR GmbH ré&umt privaten End-
kunden auf diesen Artikel drei Jahre Garantie
ab Kaufdatum (Garantiefrist) nach Maf3gabe
der folgenden Bestimmungen ein. Die Garantie
gilt nur fir Material- und Verarbeitungsfehler.
Die Garantie erstreckt sich nicht auf Teile,

die der normalen Abnutzung unterliegen und
deshalb als VerschleiBteile anzusehen sind (z.
B. Batterien) sowie nicht auf zerbrechliche Teile,
z. B. Schalter, Akkus oder Teile, die aus Glas
gefertigt sind.

Anspriiche aus dieser Garantie sind ausge-
schlossen, wenn der Artikel unsachgeméf3
oder missbrauchlich oder nicht im Rahmen der
vorgesehenen Bestimmung oder des vorgesehe-
nen Nutzungsumfangs verwendet wurde oder
Vorgaben in der Anleitung/Anweisung nicht
beachtet wurden, es sei denn, der Endkunde
weist nach, dass ein Material- oder Verarbei-
tungsfehler vorliegt, der nicht auf einem der
vorgenannten Umsténde beruht.

Anspriiche aus der Garantie kénnen nur inner-
halb der Garantiefrist unter Vorlage des Origi-
nalkassenbelegs geltend gemacht werden.
Bitte bewahren Sie deshalb den Originalkas-
senbeleg auf. Die Garantiefrist wird durch
etwaige Reparaturen aufgrund der Garantie,
gesetzlicher Gewdhrleistung oder Kulanz

nicht verldngert. Dies gilt auch fiir ersetzte und
reparierte Teile.

Bitte wenden Sie sich bei Beanstandungen
zunéchst an die untenstehende Service-Hotline
oder setzen Sie sich per E-Mail mit uns in
Verbindung. Liegt ein Garantiefall vor, wird der
Artikel von uns - nach unserer Wahl - fir Sie
kostenlos repariert, ersetzt oder der Kaufpreis
erstattet. Weitere Rechte aus der Garantie
bestehen nicht.

Ihre gesetzlichen Rechte, insbesondere Ge-
wdhrleistungsanspriiche gegeniiber dem jewei-
ligen Verké&ufer, werden durch diese Garantie
nicht eingeschrénkt.

IAN: 359952_2101
Service Deutschland

Tel.  0800-5435111
E-Mail: deltasport@lidl.de

Service Osterreich
Tel: 0820201 222 (0,15 EUR/Min.)
E-Mail: deltasport@lidl.at

@R Service Schweiz
Tel: 0842 665566 (0,08 CHF/Min.,
Mobilfunk max. 0,40 CHF/Min.)
E-Mail: deltasport@lidl.ch

DE/AT/CH 5



Congratulations!

You have chosen to purchase a high-quality

product. Familiarise yourself with the product

before using it for the first time.

E@ Read the following instructions for
use carefully.

Use the product only as described and only

for the given areas of application. Store these

instructions for use carefully. When passing the

product on to third parties, please also hand

over all accompanying documents.

Scope of delivery (fig. A)

1 x rocking horse, unassembled (1-10)
1 x set of assembly materials:
2 x doublethreaded screw @ 6 x 80mm (11)
4 x screw sleeve @ 8 x 12mm (12)
4 x screw @ 6 x 40mm (13)
4 x screw @ 6 x 50mm (14)
8 x screw @ 6 x 45mm (15)
8 x barrel nut @ 10 x 11mm (16)
2 x screw @ 4 x 25mm (17)
2 x screw & 4 x 50mm (18)
2 x Allen key (19)

1 x instructions for use

Technical data

Dimensions: approx. 69.5 x 32.5 x 51.5¢m (Lx W x H)
Seat height: 30cm

@ Maximum load: 20kg

Delta-Sport Handelskontor GmbH
C € hereby declares that this product
conforms to the following basic requirements
and other applicable regulations:

2009/48/EC - Toy Safety Directive

UK

C n UK Conformity Assessed

Date of manufacture (month/year):
07/2021

Intended use

This product is for private use as a toy for child-
ren over the age of 1.

6 GB/IE

A Safety instructions

¢ Warning. Neither the packaging/mounting
materials nor the ‘SUPER DRY’ pouch (desic-
cant) are a constituent part of the toy and for
safety reasons they must be removed before
the product is given to children to play with.
Warning. Desiccant contains calcium chloride
(CAS 10043-52-4). Keep out of reach of
children.

Check the product for damage or wear before
each use. Check regularly that all screw
connections are tight. The product may be
used only when in good working order and
condition!

The product may be loaded to a maximum of
20kg.

Adult assembly required because there are
small parts.

Make sure that the product and all parts and
components are only given to the child after
assembly.

Children may only play with the product
under adult supervision.

Warning. Use only on a level surface. Stand
the product at a minimum distance of 2m from
any other obijects such as furniture, walls, etc.

Assembly

1. Remove the packaging material and place the
individual parts on a clean and level surface
(Warning: hard surfaces may cause scratch-
ing of the product!).

2. Assemble the product as shown in figs. B-E.

Note: For small children, use the backrest with

holding ring (fig. E). For bigger children, the

product can be used without the holding ring

(fig. D).

Storage, cleaning

When not in use, always store the product clean
and dry at room temperature.

Wipe clean with a dry cloth only.

IMPORTANT! Never clean the product with
harsh cleaning agents.



Disposal

Dispose of the article and the packaging materi-
als in accordance with current local regulations.
Packaging materials such as foil bags are not
suitable to be given to children. Keep the pack-
aging materials out of the reach of children.

2 Dispose of the products and the
%A packaging in an environmentally friendly
manner.
/x} The recycling code is used to identify
Ly;) various materials for recycling.
The code consists of the recycling symbol
- which is meant to reflect the recycling cycle -
and a number which identifies the material.

Notes on the guarantee and
service handling

The product was produced with great care and
under continuous quality control. DELTA-SPORT
HANDELSKONTOR GmbH gives private end
customers a three-year guarantee on this product
from the date of purchase (guarantee period) in
accordance with the following provisions.

The guarantee is only valid for material and
manufacturing defects. The guarantee does not
cover parts subject to normal wear and tear that
are thus considered wear parts (e.g. batteries)
or fragile parts such as switches, rechargeable
batteries, or parts made of glass.

Claims under this guarantee are excluded if the
product has been used incorrectly, improperly,
or contrary to the intended purpose, or if the
provisions in the instructions for use were not
observed, unless the end customer proves that
a material or manufacturing defect exists that
was not caused by one of the aforementioned
circumstances.

Claims under the guarantee can only be made
within the guarantee period by presenting the
original sales receipt. Please therefore keep the
original sales receipt. The guarantee period is
not extended by any repairs carried out under
the guarantee, under statutory guarantees, or
as a gesture of goodwill. This also applies to
replaced and repaired parts.

If you wish to make a claim please first contact
the service hotline mentioned below or contact
us by e-mail. If there is a guarantee case, then
the product will be repaired or replaced free
of charge to you or the purchase price will be
refunded, depending on our choice.

Your legal rights, in particular guarantee claims
against the respective seller, are not limited by
this guarantee.

IAN: 359952_2101

Service Great Britain
Tel.. 0800 404 7657
E-Mail: deltasport@lidl.co.uk

{8 Service Ireland
Tel: 1890930 034
(0,08 EUR/Min., (peak))
(0,06 EUR/Min., (off peak))
E-Mail: deltasport@lidl.ie

GB/IE



Félicitations !
Vous venez d'acquérir un article de grande
qualité. Avant la premiére utilisation, familiari-
sez-vous avec |'article.
Pour cela, veuillez lire attentive-
ment la notice d’utilisation
suivante.
Utilisez I'article uniquement comme indiqué
et pour les domaines d'utilisation mentionnés.
Conservez bien cette notice d'utilisation. Si vous
cédez |'article & un tiers, veillez & lui remettre
I'ensemble de la documentation.

Contenu de la livraison
(fig. A)
1 x cheval & bascule, démonté (1 - 10)
1 x kit de matériel de montage :
2 x vis & double filet @ 6 x 80 mm (11)
4 x doville & visser @ 8 x 12 mm (12)
4 x vis @ 6 x 40 mm (13)
4 x vis @ 6 x 50 mm (14)
8 x vis @ 6 x 45 mm (15)
8 x boulon & écrou transversal
@10 x 11 mm (16)
2 xvis @ 4 x25 mm (17)
2 x vis @ 4 x 50 mm (18)
2 x clé Allen (19)

1 x notice d'utilisation

Données techniques

Dimensions : env. 69,5 x 32,5 x 51,5 cm (Lx | x h)
Hauteur du siége : 30 cm

@ Charge maximale : 20 kg

Delta-Sport Handelskontor GmbH
C € déclare par la présente que cet article
est conforme aux exigences de base suivantes et
aux autres dispositions en vigueur :
2009/48/CE - Directive relative & la sécurité
des jouets

Date de fabrication (mois / année) :
07/2021

Utilisation conforme

Cet article, destiné & un usage privé, est un jouet
pour enfants & partir de 1 an.

8 FR/BE

A Consignes de sécurité

* Attention. Les matériaux d’emballage/

de fixation et le sac « SUPER-DRY » (agent
déshydratant) ne font pas partie intégrante de
I'article et doivent étre retirés pour des raisons
de sécurité avant que |article ne soit remis
aux enfants pour jouer.

Attention. L'agent déshydratant contient du
calcium chloride (CAS 10043-52-4). Tenir
hors de portée des enfants.

Avant chaque utilisation, vérifiez que Iarticle
ne montre aucun signe de dégradation ou
d’usure. Contrélez réguliérement le serrage
de tous les raccords vissés. L'article ne doit
étre utilisé qu’en parfait état |

L'article ne peut étre chargé qu’avec 20 kg au
maximum.

Assemblage par un adulte requis en raison
des petites piéces.

Veillez & ce que |'article et tous les éléments
ou composants ne soient remis & I'enfant
qu’une fois assemblés.

Les enfants ne sont autorisés & jouer avec
I'article que sous surveillance d'un adulte.
Attention. N'utiliser que sur une surface plane.
Placez I'article & une distance minimum de

2 m par rapport aux autres obijets, tels que
par exemple des meubles, des murs, etc.

Montage

1. Retirez le matériel d’emballage et déposez
tous les éléments sur une surface propre et
plane (Attention : Les surfaces rugueuses
peuvent rayer |'article 1).

2. Montez |'article en suivant les indications des
fig. B & E.

Remarque : Pour les enfants en bas dge,

utilisez le dossier avec un anneau de retenue

(fig. E). Pour les plus grands enfants, vous

pouvez utiliser I'article sans anneau de retenue

(fig. D).



Stockage, nettoyage

Lorsque vous n'utilisez pas |article, rangez-le
toujours dans un endroit sec et propre & une
température ambiante. Essuyez uniquement avec
un chiffon de nettoyage & sec.

IMPORTANT | Ne jamais laver avec des pro-

duits de nettoyage agressifs.

Mise au rebut

Eliminez I'article et le matériel d’emballage
conformément aux directives locales en vigueur.
Le matériel d’emballage tel que les sachets en
plastique par exemple ne doivent pas arriver
dans les mains des enfants. Conservez le maté-
riel d’emballage hors de portée des enfants.
@ Ce produit est recyclable. Il est soumis &
§” la responsabilité élargie du fabricant et
est collecté séparément.

Eliminez les produits et les emballages

°
>
%ﬂ dans le respect de |'environnement.

/x} Le code de recyclage est utilisé pour
Ly)ﬁ,) identifier les différents matériaux pour le
retour dans le circuit de recyclage.
Le code se compose du symbole de recyclage,
qui doit correspondre au circuit de recyclage, et
d’un numéro identifiant le matériau.

Indications concernant la ga-
rantie et le service aprés-vente

L'article a été produit avec grand soin et sous
un contrdle constant. DELTA-SPORT HANDELS-
KONTOR GmbH accorde au client final privé
une garantie de trois ans sur cet article & comp-
ter de la date dachat (période de garantie)
conformément aux dispositions suivantes. La
garantie ne vaut que pour les défauts de maté-
riaux et de fabrication. La garantie ne couvre
pas les piéces soumises & une usure normale,
lesquelles doivent donc étre considérées comme
des piéces d'usure (comme par ex. les piles), de
méme qu’elle ne couvre pas les piéces fragiles,
telles que les interrupteurs, les batteries ou les
pieces fabriquées en verre.

Les réclamations au titre de cette garantie

sont exclues si |article a été utilisé de maniére
abusive ou inappropriée, hors du cadre de son
usage ou du champ d’application prévu ou si les
instructions de la notice d'utilisation n‘ont pas été
respectées, & moins que le client final ne prouve
que |"article présentait un défaut de matériau

ou de fabrication n”“étant pas di & I'une des
conditions mentionnées ci-dessus.

Les réclamations au titre de la garantie ne
peuvent étre adressées pendant la période de
garantie qu’en présentant le ficket de caisse
original. Veuillez pour cela conserver le ticket de
caisse original. Ceci s'applique également aux
piéces remplacées et réparées.

Si vous avez des plaintes & formuler, veuillez
d’abord contacter le service d'assistance
téléphonique ci-dessous ou nous contacter par
courrier électronique. Si le cas est couvert par

la garantie, nous nous engageons - & notre
appréciation - & réparer ou & remplacer I'article
gratuitement pour vous ou & vous rembourser le
prix d’achat. Aucun autre droit ne découle de la
garantie.

Vos droits légaux, en particulier les droits de
garantie contre le vendeur concerné, ne sont pas
limités par cette garantie.

Article L217-16 du Code de la
consommation

Lorsque I'acheteur demande au vendeur,
pendant le cours de la garantie commerciale qui
lui a été consentie lors de I'acquisition ou de la
réparation d'un bien meuble, une remise en état
couverte par la garantie, toute période d'immo-
bilisation d’au moins sept jours vient s’ajouter &
la durée de la garantie qui restait & courir.
Cette période court & compter de la demande
d’intervention de |'acheteur ou de la mise &
disposition pour réparation du bien en cause,

si cette mise & disposition est postérieure & la
demande d'intervention.

Indépendamment de la garantie commerciale
souscrite, le vendeur reste tenu des défauts de
conformité du bien et des vices rédhibitoires
dans les conditions prévues aux articles L217-4
& 1217-13 du Code de la consommation et aux

articles 1641 & 1648 et 2232 du Code Civil.

FR/BE 9



Article L217-4 du Code de la
consommation

Le vendeur livre un bien conforme au contrat et
répond des défauts de conformité existant lors
de la délivrance.

Il répond également des défauts de conformité
résultant de I'emballage, des instructions de
montage ou de l'installation lorsque celleci a
été mise & sa charge par le contrat ou a été
réalisée sous sa responsabilité.

Article L217-5 du Code de la

consommation

Le bien est conforme au contrat :

1° S’il est propre & I'usage habituellement

attendu d'un bien semblable et, le cas échéant :

¢ s'il correspond & la description donnée par le
vendeur et posséder les qualités que celui-ci a
présentées & |'acheteur sous forme d’échantil-
lon ou de modéle ;

« s'il présente les qualités qu’un acheteur peut
légitimement attendre eu égard aux déclara-
tions publiques faites par le vendeur, par le
producteur ou par son représentant, notam-
ment dans la publicité ou |'étiquetage ;

2° Ou s'il présente les caractéristiques définies

d’un commun accord par les parties ou étre

propre & fout usage spécial recherché par

I'acheteur, porté a la connaissance du vendeur

et que ce dernier a accepté.

Article L217-12 du Code de la
consommation

L'action résultant du défaut de conformité se
prescrit par deux ans & compter de la délivrance

du bien.

Article 1641 du Code civil

Le vendeur est tenu de la garantie & raison des
défauts cachés de la chose vendue qui la
rendent impropre & |'usage auquel on la destine,
ou qui diminuent tellement cet usage que
I'acheteur ne I'aurait pas acquise, ou n’en aurait
donné qu’un moindre prix, s'il les avait connus.
Article 1648 1er alinéa du Code civil
L'action résultant des vices rédhibitoires doit étre
intentée par |'acquéreur dans un délai de deux
ans & compter de la découverte du vice.

10 FR/BE

Les piéces détachées indispensables & | utili-
sation du produit sont disponibles pendant la
durée de la garantie du produit.
IAN : 359952_2101
Service France

Tel.: 0800 919270

E-Mail : deltasport@lidl.fr
Service Belgique

Tel.: 070270 171 (0,15 EUR/Min.)
E-Mail : deltasport@lidl.be



Gefeliciteerd!

Met uw aankoop hebt u voor een hoogwaardig

artikel gekozen. Zorg ervoor dat u voor het

eerste gebruik met het artikel vertrouwd raakt.
Lees hiervoor de volgende
gebruiksaanwijzing zorgvuldig
door.

Gebruik het artikel alleen zoals omschreven en

voor het aangegeven doel. Bewaar deze ge-

bruiksaanwijzing goed. Geef alle documenten

mee als u het artikel aan iemand anders geeft.

In het leveringspakket
inbegrepen (afb. A)

1 x hobbelpaard, gedemonteerd (1 - 10)
1 x set montagemateriaal:
2 x dubbel schroef @ 6 x 80 mm (11)
4 x schroefhuls @ 8 x 12 mm (12)
4 x schroef @ 6 x 40 mm (13)
4 x schroef @ 6 x 50 mm (14)
8 x schroef @ 6 x 45 mm (15)
8 x dwarsmoerbout @ 10 x 11 mm (16)
2 x schroef @ 4 x 25 mm (17)
2 x schroef @ 4 x 50 mm (18)
2 x inbussleutel (19)
1 x gebruiksaanwijzing

Technische gegevens

Afmetingen: ca. 69,5 x 32,5 x 51,5 cm (I x b x h)
Zithoogte: 30 cm

@ Maximale belasting: 20 kg

Hiermee verklaart de firma Delta-Sport
C € Handelskontor GmbH dat dit artikel aan
de volgende fundamentele eisen voldoet en met
de overige ter zake geldende bepalingen
overeenstemt:

2009/48/EU - Speelgoedrichtlijn

Productiedatum (maand/jaar):
07/2021

Voorgeschreven gebruik

Bij dit artikel gaat het om speelgoed voor
kinderen met een leeftijd vanaf 1 jaar voor
privégebruik.

A Veiligheidsinstructies

* Waarschuwing. Alle verpakkings-/bevesti-
gingsmaterialen en de ,SUPER DRY"-zak
(droogmiddel) zijn geen bestanddeel van het
speelgoed en moeten omwille van de veilig-
heid verwijderd worden voordat het product
aan kinderen overhandigd wordt om ermee
te spelen.

* Waarschuwing. Droogmiddel bevat calcium

chloride (CAS 10043-52-4). Buiten het bereik

van kinderen houden.

Controleer het artikel telkens véér gebruik

op beschadigingen of slijtageverschijnselen.

Controleer regelmatig de vaste zitting van alle

schroefverbindingen. Het artikel mag vitslui-

tend in een perfecte staat gebruikt worden!

Het artikel mag maximaal met 20 kg belast

worden.

* Op grond van aanwezige kleine onderdelen
te monteren door een volwassene.

Let erop dat het artikel en al de bestanddelen
resp. componenten alleen in de gemonteerde
toestand aan het kind overhandigd worden.
¢ Kinderen mogen alleen onder toezicht van
volwassenen met het artikel spelen.

* Waarschuwing. Alleen op een vlakke onder-
grond te gebruiken. Stel het artikel met een
minimumafstand van 2 m tot eender welke
objecten, zoals meubelen, wanden e.d., op.

Montage

1. Verwijder het verpakkingsmateriaal en leg
de onderdelen op een schone en vlakke
ondergrond (waarschuwing: harde onder-
gronden kunnen fot het bekrassen van het
artikel leidenl).

2. Monteer het artikel, zoals in afb. B - E weer-
gegeven.

Opmerking: Gebruik bij kleinere kinderen

de rugleuning met borgring (afb. E). Bij grotere

kinderen kunt u het artikel ook zonder borgring

gebruiken (afb. D).

NL/BE 11



Opslag, reiniging
Bewaar het artikel wanneer u dit niet gebruikt
altijld droog en schoon op kamertemperatuur.

Veeg alleen schoon met een droge schoonmaak-

doek.
BELANGRIJK! Reinig nooit met agressieve reini-
gingsmiddelen.

Afvalverwerking

Voer het artikel en verpakkingsmaterialen in
overeenstemming met actuele lokale voor-
schriften af. Verpakkingsmaterialen, zoals bv.
foliezakjes, horen niet thuis in kinderhanden.
Berg het verpakkingsmateriaal buiten het bereik
van kinderen op.

52 Voer de producten en verpakkingen op
%A milieuvriendelijke wijze af.

/x}' De recyclingcode dient om verschillende
Ly;) materialen te kenmerken ten behoeve
van hergebruik via het recyclingproces.
De code bestaat uit het recyclingsymbool, dat
het recyclingproces weerspiegelt, en een getal
dat het materiaal identificeert.

Opmerkingen over garantie
en serviceafhandeling

Het artikel werd met de grootste zorgvuldigheid
en onder permanent toezicht geproduceerd. De
firma DELTA-SPORT HANDELSKONTOR GmbH
verleent particuliere eindklanten op dit artikel
drie jaar garantie, te rekenen vanaf de datum
van aankoop (garantietermijn) en dit op grond
van de volgende bepalingen.

De garantie geldt alleen voor materiaal- en
verwerkingsfouten.

De garantie is niet van toepassing op onder-
delen die aan een normale slijtage onderhevig
zijn en daarom als nietslijtvaste onderdelen te
beschouwen zijn (bv. batterijen) en evenmin op
breekbare onderdelen, bv. schakelaars, accu’s
of onderdelen die van glas gemaakt zijn.

12 NL/BE

Uit de garantie voortvloeiende claims zijn vit-
gesloten als het artikel onvakkundig, verkeerd of
niet in het kader van de voorziene bepaling of in
het kader van het voorziene gebruiksdoeleinde
gebruikt werd of indien richtlijnen in de gebruik-
saanwijzing niet in acht genomen werden, tenzij
de eindklant aantoont dat er sprake is van een
materiaal- of verwerkingsfout die niet op één van
de hoger vermelde omstandigheden gebaseerd
is.

Uit de garantie voortvloeiende claims kunnen
alleen tijdens de garantieperiode op vertoon
van de originele kassabon ingediend wor-

den. Gelieve daarom de originele kassabon

te bewaren. De garantieperiode wordt door
eventuele reparaties op grond van de garantie,
wettelijke waarborg of coulance niet verlengd.
Dit geldt ook voor vervangen en gerepareerde
onderdelen.

Gelieve u bij klachten in eerste instantie tot de
hieronder vermelde servicehotline te richten of
met ons per e-mail contact op te nemen. Is er
sprake van een garantiegeval, dan wordt het ar-
tikel door ons - naar onze keuze - voor u gratis
gerepareerd, wordt het vervangen of wordt de
aankoopsom terugbetaald. Verdere rechten op
grond van de garantie bestaan niet.

Uw wettelijke rechten, in het bijzonder rechten
op garantie tegenover de betreffende verkoper,
worden door deze garantie niet beperkt.

IAN: 359952_2101

Service Belgié
Tel. 070270 171 (0,15 EUR/Min.)
E-Mail: deltasport@lidl.be

D Service Nederland

Tel. 0900 0400223 (0,10 EUR/Min.)
E-Mail: deltasport@lidl.nl



Gratulujemy!
Decydujqc sie na ten produkt, otrzymujq Panst-
wo towar wysokiej jakosci. Nalezy zapoznaé

sig z produktem przed jego pierwszym uzyciem.

Nalezy uwaznie przeczytaé
nastepujacq instrukcje
uzytkowania.
Produkt ten nalezy uzytkowaé wytgeznie
w opisany sposéb oraz zgodnie ze wskazanym
przeznaczeniem. Niniejszq instrukcje uzytkow-
ania nalezy przechowywaé w bezpiecznym
miejscu. Przekazujqc produkt innej osobie,
nalezy upewnié sig, ze ofrzyma ona takze catq
dokumentacje dotyczqeq produktu.

Zakres dostawy (rys. A)

1 x konik na biegunach, w czesciach (1 - 10)
1 x zestaw materiatéw montazowych:
2 x $ruba dwustronna @ 6 x 80 mm (11)
4 x tuleja éruby @ 8 x 12 mm (12)
4 x $ruba @ 6 x 40 mm (13)
4 x $ruba @ 6 x 50 mm (14)
8 x $ruba @ 6 x 45 mm (15)
8 x nakretka wateczkowa @ 10 x 11 mm (16)
2 x $ruba @ 4 x 25 mm (17)
2 x $ruba @ 4 x 50 mm (18)
2 x klucz imbusowy (19)
1 x instrukcja uzytkowania

Dane techniczne

Wymiary: ok. 69,5 x 32,5 x 51,5 cm
(dh. x szer. x wys.)

Wysoko$é¢ siedziska: 30 cm

@ Maksymalne obcigzenie: 20 kg
C Delta-Sport Handelskontor GmbH

o$wiadcza niniejszym, ze ten artykut
jest zgodny z zasadniczymi wymogami i innymi
stosownymi postanowieniami:
2009/48/WE - dyrektywa w sprawie

bezpieczenstwa zabawek

Data produkeji (miesigc/rok):
07/2021

Zastosowanie zgodne z
przeznaczeniem

Niniejszy artykut jest zabawkg dla dzieci w
wieku powyzej 1 roku do uzytku prywatnego.

A Wskazéwki
bezpieczenstwa

¢ Ostrzezenie. Opakowanie/wszystkie
materiaty mocujgce oraz woreczek ,SUPER
DRY” (pochtaniacz wilgoci) nie sq czesciq za-
bawki i ze wzgledéw bezpieczeristwa muszq
byé usunigte, zanim artykut bedzie przekaza-
ny dzieciom do zabawy.

Ostrzezenie. Pochtaniacz wilgoci zawiera
calcium chloride (CAS 10043-52-4). Chronié
przed dzieémi.

Przed kazdym uzyciem nalezy sprawdzié, czy
artykut nie posiada uszkodzer bqdz $ladéw
zuzycia. Nalezy regularnie sprawdzaé
poprawno$¢ dokrgcenia wszystkich potqczen
$rubowych. Z artykutu mozna korzystaé tylko
wtedy, gdy znajduje sie w nienagannym
stanie!

* Maksymalne obcigzenie artykutu wynosi

20 kg.

Ze wzgledu na wystepujace mate czesci
wymagany montaz przez osobe dorostq.
Zadbaé o to, aby artykut i wszystkie czesci
lub komponenty zostaty przekazane dziecku
dopiero po zakorczeniv montazu.

Dzieci mogq bawi¢ sie artykutem jedynie pod
nadzorem dorostych.

Ostrzezenie. Z artykutu nalezy korzysta¢
wytqcznie na réwnej powierzchni. Artykut
nalezy umiescié w odlegtosci co najmniej 2
metry od pozostatych przedmiotéw, takich jak
meble, Sciany itp.

Montaz

1. Usungé materiat opakowaniowy i potozyé
poszczegdlne czeéci na czystej i réwnej po-
wierzchni (Ostrzezenie: Twarde powierzchnie
mogq powodowaé zarysowania artykutul).

2. Artykut nalezy zmontowaé w sposéb przed-
stawiony na rys. B - E.

PL 13



Wskazéwka: Dla mniejszych dzieci nalezy

stosowad oparcie z piericieniem zabezpieczajg-

cym (rys. E). Starsze dzieci mogq korzystaé z ar-
tykutu réwniez bez zamontowanego pierécienia
zabezpieczajgcego (rys. D).

Przechowywanie, czyszczenie

Podczas nieuzywania nalezy zawsze
przechowywaé produkt w suchym i czystym
miejscu, w temperaturze pokojowe;j.
Wyciera¢ do czysta jedynie suchq $ciereczkq.
WAZNE! Nie czysci¢ przy uzyciu ostrych
$rodkéw czyszczqeych.

Uwagi odnosnie recyklingu
Artykut oraz materiaty opakowaniowe nalezy
usungé zgodnie z aktualnymi przepisami
obowigzujgcymi w danym miejscu. Materiaty
opakowaniowe, jak np. worki foliowe nie
powinny znalez¢ sig¢ w rekach dzieci. Materiat
opakowaniowy nalezy przechowywaé w miejs-
cu niedostepnym dla dzieci.

> Zutylizowaé produkt i opakowanie w
%A sposéb przyjazny dla srodowiska.

/x} Kod materiatu do recyklingu stuzy do
Ly;) oznaczenia réznych materiatéw
przeznaczonych do zwrotu do przetwér-
stwa wtérnego (recyklingu). Kod sktada sig z
symbolu, ktéry powinien odzwierciedlaé cykl
odzysku, oraz numeru oznaczajgcego materiat.

Wskazéwki dotyczace gwa-
rancji i obstugi serwisowej

Artykut zostat wyprodukowany z najwyzszq
starannosciq i pod statq kontrolg. DELTA-SPORT
HANDELSKONTOR GmbH przyznaie klien-
towi koficowemu na niniejszy artykut trzy lata
gwaranciji od daty zakupu (okres gwarancyjny)
z zastrzezeniem ponizszych postanowier. Gwa-
rancja dotyczy wytqcznie wad materiatowych

i wad wykonania. Gwarancja nie obejmuje
czeéci, ktére podlegajg normalnemu zuzyciu i
z tego wzgledu nalezy je traktowaé jako czesci
zuzywalne (np. baterie) i nie obejmuje czeici
kruchych, np. przetgcznikéw, akumulatoréw ani
czeéci wykonanych ze szkla.

14 PL

Wyklucza sie roszczenia z tytutu niniejszej gwo-
rancji w przypadku uzycia artykutu w sposéb
niewtaéciwy lub sprzeczny z jego przeznacze-
niem lub w sposéb wykraczajqcy poza prze-
widziane przeznaczenie lub poza przewidziany
zakres uzytkowania lub jesli wytyczne zawarte
w instrukeji obstugi nie byly przestrzegane,
chyba ze klient koicowy udowodni istnienie
wady materiatowej lub wady wykonania, ktéra
nie wynika z podanych wyzej przyczyn.
Roszczenia z tytutu gwarancji mozna zgtaszaé
wylqcznie w okresie gwarancyjnym za okaza-
niem oryginalnego dowodu zakupu. Prosimy
zatem zachowaé oryginalny dowéd zakupul

W przypadku jakichkolwiek reklamacii

prosimy skontaktowaé sig z nami najpierw za
posérednictwem podanej ponizej infolinii serwiso-
wej lub drogg e-mailowq. W przypadku objetym
gwarancjq artykut zostanie - wedtug naszego
uznania - bezptatnie naprawiony, wymieniony
lub nastqpi zwrot ceny zakupu. Z gwarancji nie
wynikajg zadne inne prawa.

Niniejsza gwarancja nie ogranicza Panstwa
ustawowych praw, w szczegélnosci roszczen
gwarancyjnych wobec danego sprzedawcy.

W przypadku wymiany czesci lub catego
artykutu okres gwarancji przedtuza sie o trzy
lata zgodnie z art. 581 § 1 kodeksu cywilnego.
Po uptynigciu czasu gwaranciji powstate napra-
wy sq platne.

IAN: 359952_2101
Serwis Polska

Tel. 22397 4996
E-Mail: deltasport@lidl.pl



Srdeé&né blahoprejemel!
Svym ndkupem jste se rozhodli pro kvalitni vyro-
bek. Pfed prvnim pouzitim se prosim seznamte
s timto vyrobkem.
Pozorné si prectete nasleduijici
navod k pouziti.
Pouziveijte tento vyrobek pouze tak, jak je
popsdno, a pro uvedené (&ely. Uschoveite si
tento ndvod k pouziti pro budouci pouZiti. Pokud
vyrobek preddte tieti osobg, predeite i i velke-
rou dokumentaci.

Rozsah dodavky (obr. A)

1 x houpaci kiR, rozlozeny (1 - 10)
1 x sada montdzniho materidlu:
2 x dvoijity $roub @ 6 x 80 mm (11)
4 x 3roubovaci pouzdro @ 8 x 12 mm (12)
4 x sroub @ 6 x 40 mm (13)
4 x Sroub @ 6 x 50 mm (14)
8 x $roub @ 6 x 45 mm (15)
8 x vélcovd matice @ 10 x 11 mm (16)
2 x $roub @ 4 x 25 mm (17)
2 x 3roub @ 4 x 50 mm (18)
2 x kli¢ s vnitinim Sestihranem (19)
1 x ndvod k pouziti

Technicka data

Rozméry: cca 69,5 x 32,5 x 51,5 cm (I x 3 x v)
Vy3ka sedadla: 30 cm

@ Maximdlni zatizeni: 20 kg

Delta-Sport Handelskontor GmbH timto
C prohladuje, Ze tento vyrobek je ve shodé
s nésledujicimi zékladnimi pozadavky a
ostatnimi odpovidaijicimi ustanovenimi:

2009/48/ES - Smérnice o bezpe&nosti hracek

Datum vyroby (mésic/rok):
07/2021

Pouziti ke stanovenému ucelu

Tento vyrobek je hracka pro déti od 1 roku pro
privatni pouZiti.

N\ Bezpeénosini pokyny

* Upozornéni. Veskeré obalové a upeviiovaci
materidly a sd&ek ,SUPER DRY” (vysouseci
prostiedek) nejsou soucdsti hragky a musi byt
z bezpeénostnich diivodd odstranény pred
tim, neZ je vyrobek preddn détem na hrani.

* Upozornéni. Vysouseci prostredek obsahuje

calcium chloride (CAS 10043-52-4). Ucho-

véveijte mimo dosah déti.

Kontrolujte vyrobek pred kazdym pouzi-

tim, zda neni poskozen nebo opotieben.

Kontrolujte pravidelné pevné usazeni viech

Sroubovych spojeni. Vyrobek smi byt pouzivan

pouze v bezvadném stavu!

Vyrobek smi byt zatiZzen maximdlné 20 kg.

Kvili malym dilim je nutné sestaveni hragky

dospélou osobou.

Dbeite na to, aby vyrobek a veskeré soucdsti,

resp. komponenty, byly pfeddavany ditéti

pouze v sestaveném stavu.

Déti si smi s vyrobkem hrat pouze pod dohle-

dem dospélych.

¢ Upozornéni. Pouzivejte pouze na rovném po-
vrchu. Stavte vyrobek s minimdlnim odstupem
2 m od jakychkoli pfedméty, jako je ndbytek,
stény apod.

Sestaveni

1. Odstrafite obalovy material a polozte jednotli-
vé dily na &isty a rovny podklad (Upozornéni:
Tvrdé podklady mohou vést k podkrabani
vyrobkul).

2. Vyrobek montujte tak, jak ukazuiji obr. B - E.

Upozornéni: Pro mensi d&ti pouzivejte opérku

zad s kruhem pro drzeni (obr. E). U vétsich déti

mdzete vyrobek pouzivat také bez kruhu pro

drzeni (obr. D).

Uskladnéni, cisténi

Pokud vyrobek nepouzivdte, skladuite jej vzdy
suchy a Cisty pfi pokojové teploté.

Utirejte pouze suchym hadfikem.

DULEZITE! K &idt&ni nikdy nepouzivejte agresivni
Cistici prostiedky.

Cz 15



Pokyny k likvidaci

Vyrobek a obalovy materidl likvidujte do odpa-
du podle aktudlnich mistnich piedpisd. Obalovy
materidl, jako napt. féliové sacky, nepatfi do
détskych rukou. Obalovy material uchovéveite z
dosahu déti.

52 Zlikvidujte produkty a baleni ekologicky.

BN

/x} Recyklagni kéd identifikuje rozné
Ly;) materidly pro recyklaci.

Kéd se sklada z recyklaéniho symbolu
- ktery indikuje recyklagni cyklus - a &isla identifi-
kujiciho materidl.

Pokyny k zaruce a probéhu
sluzby

Vyrobek byl vyroben s velkou pégi a za

stalé kontroly. DELTA-SPORT HANDELSKON-
TOR GmbH poskytuje koncovym privatnim
zé&kaznikdm na tento vyrobek tfi roky zaruky od
data nékupu (zéruéni lhita) podle ndésledujici
ustanoveni. Zdruka se tykd pouze vad materidlu
a zdvad ve zpracovdni. Zaruka se nevztahuje
na dily, které podléhaiji normélnimu opottebeni,
a protfo je nutné na né pohlizet jako na rychle
opottebitelné dily (napt. baterie), a na kiehké
dily, napt. vypinace, akumuldtory nebo dily
vyrobené ze skla.

Ndroky z této zdruky jsou vylouéeny, pokud
vyrobek byl pouzivén neodborné nebo nedovo-
lenym zpsobem nebo nikoli v rdmci stanovené-
ho G&elu uréeni nebo predpokléddaného rozsahu
pouzivéni nebo nebyla dodrzena zaddni v
ndvodu k obsluze, ledaze by koncovy zdkaznik
prokdzal, Ze existuje vada materidlu nebo doslo
k chybé& ve zpracovani, které nevyplyvaiji z
nékteré vy3e uvedenych okolnosti.

Ndroky ze zdruky |ze uplatnit pouze v rém-

ci zaruéni Ihity po predlozeni origindlniho
pokladniho dokladu. Proto si prosim uschoveite
origindl pokladniho dokladu. Doba zaruky se
neprodluzuje piipadnymi opravami na zékladé
zéruky, zdkonné zaruky nebo kulance. Totéz
plati také pro vyménéné a opravené dily.

Pfi reklamacich se prosim obracejte na nize uve-
denou horkou linku servisu nebo se s nami spojte
e-mailem. Pokud se vyskytne pfipad reklamace,
vyrobek Vam - dle nadi volby - bezplatné opra-
vime, vyménime nebo Vém vratime kupni cenu.
Dal3i prava ze zdruky nevznikaiji.

Vase zdkonnd préva, zejména ndroky na
zajisténi zaruky viéi konkrétnimu prodeici,
nejsou fouto zdrukou omezena.

IAN: 359952_2101

&2 Servis Cesko
Tel. 800143873
E-Mail: deltasport@lidl.cz



Blahozeldme!
Svojim ndkupom ste sa rozhodli pre kvalitny
vyrobok. Pred prvym pouzitim sa s vyrobkom
dékladne oboznamte.
Pozorne si preditajte tento navod
na pouzivanie.
Vyrobok pouzZivajte len uvedenym sp&sobom
a na uvedeny G&el. Tento ndvod na pouZivanie
si dobre uschovaite. Pri odovzddvani vyrobku
tretej osobe odovzdaijte s vyrobkom aj vietky
podklady.

Obsah balenia (obr. A)

1 x hojdaci konik, rozlozeny (1 - 10)

1 x sada montdzneho materidlu:
2 x spojovacia skrutka @ 6 x 80 mm (11)
4 x skrutkové dutinka @ 8 x 12 mm (12)
4 x skrutka @ 6 x 40 mm (13)
4 x skrutka @ 6 x 50 mm (14)
8 x skrutka @ 6 x 45 mm (15)
8 x valéekovd matica @ 10 x 11 mm (16)
2 x skrutka @ 4 x 25 mm (17)
2 x skrutka @ 4 x 50 mm (18)

2 x inbusovy kl'6& (19)

1 x ndvod na pouzivanie

Technické udaje
Rozmery: cca 69,5 x 32,5 x 51,5 cm (D x SxV)
Vy3ka sedadla: 30 cm

@ Maximdlne zafazenie: 20 kg

Delta-Sport Handelskontor GmbH tymto
C prehlasuje, Ze tento vyrobok sa zhoduje
s nasledovnymi zdkladnymi poziadavkami a
ostatnymi prislunymi ustanoveniami:

2009/48/ES - Smernica o bezpecnosti hraciek

Datum vyroby (mesiac/rok):
07/2021

Pouzivanie podl'a uréenia
Tento vyrobok je hragka pre deti od 1 roku pre
stkromné pouzitie.

N\ Bezpeénosiné pokyny

Upozornenie. Vietok obalovy/upeviiovaci
materidl a vrecko ,SUPER DRY" (susiaci
prostriedok) nie st s6&astou hracky a musite
ich z bezpeénostnych dévodov odstranit
predtym, neZ vyrobok odovzddte defom na
hranie.

Upozornenie. Sudiaci prostriedok obsahuje
calcium chloride (CAS 10043-52-4). Uchové-
vajte mimo dosahu deti.

Pred kaZdym pouZivanim vyrobku skontro-
lujte, ¢i nie je poskodeny alebo opotrebeny.
Pravidelne kontroluijte, & so vietky skrutkové
spoje pevné. Vyrobok sa smie pouzivat len v
bezchybnom stave!

Vyrobok sa smie zafaZif s maximdlne 20 kg.
Pri montdzi sa kvéli drobnym dielom vyZaduje
dohl'ad dospelych.

Dévaite pozor na to, aby bol vyrobok a viet
ky jeho sd&iastky prip. komponenty odovzda-
ny diefafu len v zloZenom stave.

Deti sa sm0 hraf s vyrobkom len pod dohla-
dom dospelych.

Upozornenie. PouZivaite len na rovnom
povrchu. Vyrobok postavte tak, aby bol mini-
mélny odstup 2 m od akychkolvek objektoy,
ako ndbytok, steny a pod.

Montaz

1.

2.

Odstranite obalovy materidl a jednotlivé diely
polozte na ¢isty a rovny podklad (Upozorne-
nie: Tvrdé podklady mézu spdsobif poskriaba-
nia vyrobkul).

Vyrobok zlozte podla obr. B - E.

Upozornenie: U malych deti pouzivajte
opierku s poistnym krazkom (obr. E). U v&&sich
deti mdzete pouzivat vyrobok bez poistného

krozku (obr. D).

Skladovanie, ¢istenie

Pri nepouzivani skladujte vyrobok vzdy suchy

a &isty pri izbovej teplote. Cistite iba suchou
handrigkou.

DOLEZITE! Vyrobok nikdy negistite ostrymi &istia-
cimi prostriedkami.

SK 17



Pokyny k likvidacii

Vyrobok a obalovy materidl zlikvidujte v stlade
s aktuélnymi miestnymi predpismi. Obalovy
materidl, ako napr. féliové vrecisko nepatri do

rok deti. Obalovy materidl uschovajte mimo
dosahu deti.

22 Vyrobky a obaly likvidujte ekologickym

%ﬂ spbsobom.

/x} Recyklaény kéd sloZi na oznadenia
Ly;) réznych materidlov na navrétenie do
obehu opétovného vyuZitia.
Kéd sa skladd z recyklaéného symbolu - ktory
md odzrkadlovaf zhodnotenie recyklaényého
obehu - a ¢&islo oznadujoce materidl.

Pokyny k zaruke a priebehu
servisu

Vyrobok bol vyrobeny velmi starostlivo a pod
stélou kontrolou. Na tento vyrobok poskytuje
DELTA-SPORT HANDELSKONTOR GmbH sik-
romnym koncovym uzivatelom trojroéni zéruku
odo diia kipy (zdruénd lehota) po splneni
nasledovnych podmienok. Zéruka plati len na
chyby materidlu a spracovania.

Zé&ruka sa netyka dielov, ktoré podliehaijo
beZnému opotrebeniu a prefo ich mozno
povazovaf za opotrebitelné diely (napr. ba-
térie), ako aj krehkych dielov, napr. vypinace,
akumuldtory alebo diely, ktoré s vyrobené zo
skla.

Ndroky z tejto zdruky zanikajd, ked' sa vyrobok
pouzival neodborne alebo nespravne, mimo
uréenia na pouzivanie alebo uréeného rozsahu
pouzivania alebo neboli dodrzané pokyny
ndvodu na obsluhy, s vynimkou, Ze koncovy
uzivatel preukdze, ze ide o chybu materidlu
alebo spracovania, ktoré nebola spésobend
niektorou z hore uvedenych okolnosti.

Zéaruku je mozné uplamif len polas zdaruénej
lehoty po predlozeni origindlu pokladni¢ného
dokladu. Originél pokladni¢ného dokladu
preto prosim uschovaite. Zaruénd doba sa kvéli
pripadnym zdruénym opravam, zdkonnej zdruke
alebo ako obchodné gesto nepred|zuje. Plati to
aj pre vymenené a opravené diely.

18 SK

Pri reklamécidch sa prosim najskér obrafte na
dole uvedent Service-Hotline alebo sa s nami
spojte prostrednictvom e-mailu. Ak sa jednd o
zaruény pripad, vyrobok - podl'a nasej volby

- bezplatne opravime, vymenime alebo vratime
kipnu cenu. Dalsie préva zo zaruky nevyply-
vajo.

Vase zdkonné prava, hlavne néroky na zaruéné
plnenie vodi prislunému predajcovi, nie si touto
zdarukou obmedzené.

IAN: 359952_2101
@K Servis Slovensko

Tel: 0850232001
E-Mail: deltasport@lidl.sk



iEnhorabuenal
Con su compra se ha decidido por un articulo
de gran calidad. Familiaricese con el articulo
antes de usarlo por primera vez.
Para ello, lea detenidamente las
siguientes instrucciones de uso.
Use el articulo solo de la forma descrita y para
los campos de aplicacién indicados. Conserve
estas instrucciones de uso a buen recaudo.
Entregue todos los documentos en caso de
traspasar el articulo a terceros.

Contenido de suministro
(fig. A)
1 x caballo balancin, desmontado (1 - 10)
1 x kit de material de montaije:
2 x tornillo de doble rosca @ 6 x 80 mm (11)
4 x casquillo roscado @ 8 x 12 mm (12)
4 x tornillo @ 6 x 40 mm (13)
4 x tornillo @ 6 x 50 mm (14)
8 x tornillo @ 6 x 45 mm (15)
8 x perno de tuerca transversal
@10 x 11 mm (16)
2 x tornillo @ 4 x 25 mm (17)
2 x tornillo @ 4 x 50 mm (18)
2 x llave Allen (19)

1 x instrucciones de uso

Datos técnicos

Medidas: aprox. 69,5 x 32,5 x 51,5 em (Lx F x A)
Altura del sillin: 30 cm

@ Carga méxima: 20 kg

C Por la presente, Delta-Sport Handelskon-

tor GmbH declara que este articulo
cumple con los requisitos bdsicos siguientes y las
demdés disposiciones pertinentes:
2009/48/CE - Directiva sobre la seguridad de

los juguetes

Fecha de fabricacién (mes/afo):
07/2021

Uso conforme al fin previsto

Este articulo es un juguete de uso privado para
nifios a partir de 1 afo.

Instrucciones de
seguridad

¢ Advertencia. Los materiales de embalaje y
fijacion y la bolsa “SUPER DRY” (desecante)
no forman parte del juguete y deben eliminar-
se por motivos de seguridad siempre antes de
entregar el articulo a los nifios para jugar.
Advertencia. El desecante contiene calcium
chloride (CAS 10043-52-4). Mantener fuera
del alcance de los nifios.

Compruebe si el articulo presenta dafios o
signos de desgaste antes de cada uso. Com-
pruebe con regularidad que todas las uniones
atornilladas estén bien apretadas. jEl articulo
debe utilizarse Gnicamente si se encuentra en
perfectas condiciones!

El articulo no debe ser sometido a una carga
mayor de 20 kg.

¢ Se requiere ensamblaje por un adulto debido
a la existencia de piezas pequefias .

Tenga cuidado de entregar el articulo y
todos sus componentes o piezas Gnicamente
montados al nifio.

Los nifios deberdn jugar con el articulo Gnica-
mente bajo la vigilancia de personas adultas.
Advertencia. Emplear Gnicamente sobre
superficies planas. Coloque el articulo a una
distancia minima de 2 m respecto a cualquier
objeto, como muebles, paredes, etc.

Montaje

1. Retire el material de embalaje y coloque
las piezas sobre una base limpia y plana
(advertencia: jlas bases duras podrian arafar
el articulol).
2. Monte el articulo como se muestra en las fig.
B-E.
Nota: para los nifios mds pequefios emplee el
respaldo con anillo de soporte (fig. E). El articu-
lo se puede usar también sin anillo de soporte
para nifios mayores (fig. D).

Almacenamiento, limpieza

Si no va a utilizarlo, almacene siempre el articu-
lo seco y limpio y a temperatura ambiente.
Limpielo dnicamente pasando un pafio de
limpieza seco.

ES 19



iIMPORTANTE! No lo limpie con productos de
limpieza agresivos.

Indicaciones para la
eliminacion

Elimine el articulo y el material de embalaje
conforme a la normativa legal local en la ac-
tualidad. No deje material de embalaje, como
bolsas de pldstico, en manos de nifios. Guarde
el material de embalaje en un lugar inaccesible
para éstos.

2 Deseche los productos y embalajes de
%A manera respetuosa con el medio
ambiente.
/N, El cédigo de reciclaje sirve para
£y El<sdiso deecicce in
=& identificar diversos materiales para
reincorporarlos en el ciclo de reciclaje.
El cédigo consta del simbolo de reciclaije, el
cual debe reflejar el ciclo de recuperacién, y de
un ndmero que identifica el material.

Indicaciones relativas a la
garantia y la gestion de
servicios

El articulo ha sido fabricado con gran esmero y
sometido a controles constantes. Para el mismo,
DELTA-SPORT HANDELSKONTOR GmbH
ofrece a los clientes finales particulares una ga-
rantia de tres afios a contar desde la fecha de
compra (periodo de garantia) con arreglo a las
condiciones que se exponen a continuacién.

La garantia tiene validez Gnicamente para fallos
del material y fabricacién. La garantia no cubre
las piezas sometidas a un desgaste normal, las
cuales se consideran piezas de desgaste (p. ej.,
pilas) asi como tampoco piezas frégiles como,
p. ej., interruptores, baterias o piezas fabricadas
en vidrio o cristal.

Se excluyen derechos derivados de esta
garantia, si se ha realizado un uso incorrecto

o abusivo del articulo o que no se encuentre
dentro del marco del uso o dmbito de uso pre-
vistos o si no se ha observado lo recogido en el
manual de instrucciones, a no ser que el cliente
final demuestre que existen fallos del material o
fabricacién no derivados de una de las circun-
stancias expuestas anteriormente.

20 ES

Las demandas derivadas de la garantia sélo
podrén presentarse dentro del periodo de
garantia exhibiendo el comprobante de compra
original. Le rogamos, por ello, que conserve el
comprobante de compra original. El periodo de
garantia no se verd prolongado por ningdn tipo
de reparacién realizada con motivo de la ga-
rantia, la garantia legal o como gesto de buena
voluntad. Esto se aplica también a las piezas
sustituidas o reparadas.
Por favor, dirija sus quejas primero a la linea
telefénica del servicio de atencién al cliente que
se indica a continuacién o péngase en contacto
con nosotros por correo electrénico. Si el caso
estd cubierto por la garantia, a nuestra eleccién,
repararemos o cambiaremos gratuitamente el
articulo o le restituiremos el precio de compra
del mismo. De la garantia no se derivan otros
derechos.
Esta garantia no limitard sus derechos legales,
especialmente los derechos de garantia frente al
vendedor correspondiente.
IAN: 359952_2101
@& Servicio Espaiia
Tel.. 9025999 22
(0,08 EUR/Min. + 0,11 EUR/
llamada (tarifa normal))
(0,05 EUR/Min. + 0,11 EUR/
llamada (tarifa reducidal))

E-Mail: deltasport@lidl.es



Hijertelig tillykke!
Du har valgt at kebe et kvalitetsprodukt. Laer
produktet at kende, inden du bruger det ferste
gang.
Det gor du ved at lzese nedensta-
ende brugervejledning omhygge-
ligt.
Brug kun produktet som beskrevet og til de
angivne anvendelsesomréder. Opbevar denne
brugervejledning et sikkert sted. Udlever ogsé
alle dokumenter, hvis produktet videregives til en
tredjepart.

Leveringsomfang (afb. A)

1 x gyngehest, adskilt (1 - 10)
1 x saet monteringsmateriale:
2 x dobbeltskrue @ 6 x 80 mm (11)
4 x skruehylse @ 8 x 12 mm (12)
4 x skrue @ 6 x 40 mm (13)
4 x skrue @ 6 x 50 mm (14)
8 x skrue @ 6 x 45 mm (15)
8 x tvaerbgsning @ 10 x 11 mm (16)
2 x skrue @ 4 x 25 mm (17)
2 x skrue @ 4 x 50 mm (18)
2 x unbrakonggle (19)
1 x brugerveijledning

Tekniske data

Mal: ca. 69,5 x 32,5 x 51,5 cm (L x B x H)
Saedehgjde: 30 cm

@ Maksimal belastning: 20 kg

Hermed erklaerer Delta-Sport Handels-
C € kontor GmbH, at denne artikel
overholder fglgende grundlaeggende krav og de
ovrige relevante bestemmelser:

2009/48/EF - legetgijsdirektiv

Fremstillingsdato (méned/ér):
07/2021

Tilsigtet brug

Denne artikel er legetgi fil privat brug il bern fra
1 é&rs alderen.

N\ Sikkerhedsoplysninger

* Advarsel. Alle emballerings-/monteringsmate-
rialer og ,SUPER DRY"-posen (terremiddel) er
ikke en del of legetgijet, og skal af sikkerhe-
dsgrunde altid fiernes, inden artiklen gives il
barnene fil at lege med.

 Advarsel. Tarremidlet indeholder calcium

chloride (CAS 10043-52-4). Opbevares

utilgaengeligt for barn.

Kontrollér artiklen for beskadigelser eller slid

fer hver brug. Kontrollér regelmaessigt, at alle

skrueforbindelser sidder fast. Artiklen mé& kun
bruges i fejlfri tilstand!

¢ Artiklen m& maksimalt belastes med 20 kg.

¢ Samling skal foretages af en voksen pé& grund

af tilstedeveerelsen of smédele.

Serg for, at artiklen og alle enkeltdele eller

komponenter kun udleveres til barnet, nér den

er bygget sammen.

Barn mé& kun lege med artiklen under opsyn

af voksne.

* Advarsel. M& kun benyttes pé en plan over-
flade. Stil artiklen i mindst 2 meters afstand fra
genstande som mabler, vaeegge o.a.

Opistilling
1. Fiern emballagematerialet, og laeg de enkelte
dele pé en ren og plan overflade (Advar-
sel: Harde overflader kan fare fil ridser p&
artiklenl).
2. Montér artiklen som vist i afb. B - E.
Bemaerk: Anvend til mindre bern ryglaenet
med holderingen (afb. E). Ved aldre bern kan
artiklen ogsa bruges uden holderingen (afb. D).

Opbevaring, rengering

Opbevar altid artiklen ter og ren ved stuetempe-
ratur, nér den ikke er i brug.

Tor den kun of med en ter rengeringsklud.
VIGTIGT! M& aldrig rengeres med skrappe
rengeringsmidler.

DK 21



Henvisninger vedr.
bortskaffelse

Bortskaf artikel og emballage i overensstem-
melse med lokalt gaeldende forskrifter. Embal-
lagematerialer som f.eks. plastposer harer ikke
hjemme i bgrnehaender. Opbevar emballagen
utilgaengeligt for barn.

2 Bortskaf produkter og emballage
%A miljerigtigt.

/x} Genbrugskoden anvendes til meerkning
Ly;) af forskellige materialer med henblik pé
genvinding.

Koden bestdr af genbrugssymbolet - som afspej-

ler genvindingskredslabet - og et nummer, der
kendetegner materialet.

Oplysninger om garanti og
servicehandtering

Varen er fremstillet med stgrste omhu og under
lzbende kontrol. DELTA-SPORT HANDELS-
KONTOR GmbH yder private slutkunder tre érs
garanti pa varen fra kebsdato (Garantifrist) i
henhold til fzlgende bestemmelser. Garantien
geelder kun for materiale- og fremstillingsfeil.
Garantien omfatter ikke dele, der er udsat for
normal slid og derfor skal betragtes som sliddele
(f.eks. batterier) og ikke skrgbelige dele, f.eks.
kontakter, genopladelige batterier eller dele, der
er fremstillet af glas.

Garantien kan ikke gares gaeldende, hvis varen
er blevet anvendt ukorrekt eller uagtsomt eller

til andre formél end det tilsigtede eller i det
tilsigtede omfang. Garantien bortfalder ligeledes
ved manglende overholdelse af anvisningerne

i betieningsvejledningen. Kunden skal kunne
pévise, at der er tale om materiale- eller fremstil-
lingsfejl og ikke fejl som fglge aof ovenstdende
omstaendigheder.

Garantien kan kun geres gaeldende i garanti-
perioden mod fremvisning of original kvittering.
Gem derfor den originale kvittering Garantipe-
rioden forleenges ikke i tilfeelde af reparation i
henhold til garantien, den lovpligtige garanti el-
ler pr. kulance. Dette gaelder ogsé for udskiftede
og reparerede dele.

22 DK

| tilfeelde af klager er det muligt at kontakte
nedenstdende servicelinje eller kontakte os pr.
e-mail. Ved garantisager vil vi efter eget skan
reparere varen uden beregning, ombytte varen
eller refundere kgbsprisen. Der er ingen yder-
ligere rettigheder under garantien.

Dine lovmaessige reftigheder, herunder navnlig
garantikrav over for saelger, indskraenkes ikke
som felge af denne garanti.

IAN: 359952_2101
Service Danmark

Tel: 32710005
E-Mail: deltasport@lidl.dk






DELTA-SPORT HANDELSKONTOR GMBH
Wragekamp 6 ¢ DE-22397 Hamburg
GERMANY

&I 07/2021

Delta-Sport-Nr.: AS-9298

06.17.2021 / PM 3:50

IAN 359952_210]1




